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	وي �	رج طول ا���� ا���	دي ��زاو
� ا��	دة ���  -
 �

ب ��	م زاو
� �	دة $� ���ث "	!م ا�زاو%
 طول ا�و�ر 


	وي �	رج %
ب زاو
� �	دة  -
 �
�و�رطول ا���� ا��'	&ل ��� طول ا  $� ���ث "	!م ا�زاو  


	وي �	رج ظل زاو
� �	دة  -
 �
طول ا���� ا��'	&ل �+ذه ا�زاو
� ��� طول   $� ���ث "	!م ا�زاو
.ا���� ا���	ذي �+	  

  ��	ل1

 

[AB]  دي ��زاو����
  ACBˆ،   وا�
���ل ��زاو�� ABCˆھو ا���� ا�

[AC]  ل ��زاو�����
  ACBˆ،   وا�
��دي ��زاو�� ABCˆھو ا���� ا�

[CB] ھو ا�و�ر  
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 ��	ل2
   ABC      �� م ا�زاو����ث ���
A 

 AC = 4 cmو     AB = 3 cmو      BC = 5 cm  : ���ث 

                           ˆACB ��� ��زاو��   ��
� ��ب ا� �ب ا�  

   
4ˆcos
5

ACB = :    إذن    ˆcos
AC

ACB
BC

= :  �د� �      

   
3ˆsin
5

ACB = :      إذن      ˆsin
AB

ACB
BC

= : �د� �    



       
3ˆtan
4

ACB = :      إذن     ˆtan
AB

ACB
AC

= :�د� �    

 2- ا��-"� &
ن %
ب ��	م و%
ب وظل زاو
� �	دة

 �
.	�  

0 : ���س زاو�� ��دة، �د� � ��x$ن  sin 1x< 0و     > cos 1x< <  
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sin cos 1x x+   و   =
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x = 
� أن    �( : tan x و     sin x   � ��ب  

2 2
cos sin 1x x+ = :     �د� �    
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x = = :    إذن            0 sin 1x< < :  �د� �    
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x
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x
= :   �د� �   

4ˆcos
5

ACB = :    إذن    ˆcos
AC

ACB
BC

= :  �د� �      

   3ˆs in
5

A C B = :      إذن      ˆsin
A B

A C B
B C

= :�د� �    
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��ن،�(ن���
:إذا $� ت زاو���ن +�ر 
 *د
��ن   

1
� ���وي -�ب ا0/رىب $ل �-  - 
  

1
� ���وي 
��وب ظل ا0/رى  - 
  .ظل $ل 

 ��	ل
   ABC ��ث ���م ا�زاو�� ��   
A 

 

 

ˆˆcos sinABC ACB=
 

ˆ  و ˆcos sinACB ABC=
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1

ˆtan
ˆtan
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=  


